Solution of ECE 315 Test 4 FO7

If y(t):tri(t/S)*26(t+1),find the numerical value of y(—Z). y(—Z) =

y(t) =tri(t/3)+25(t+1) = 2tri((t +1)/3) =y(-2)= 2tri((—2+1)/3) =2tri(-1/3)=4/3

A continuous-time system is described by 2y’(t) + 4y(t) = —x(t) , where x isthe excitation and y is the
response. If x(t) = Xe!”" and y(t) =Ye!" and H(ja)) :% find the numerical value of H(jZ).

H(j2) =

H(S) = 28_-3-4 = H(jw) =— j2a:)l+4 = H(jZ) = _JM4—].-|.4 =-0.125+ j0.125=0.1768/2%%
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(1—e‘2t)u(t) and W(t) = x(t)* h’(t) find the numerical value of W(l).

w(t)=y(t) = (1-e)8(t)+ 26 ™ u(t) = 26 * u(t) = w(1) = 2 = 0.2707

=0 att=0



Solution of ECE 315 Test 4 FO7

If y(t):tri(t/4)*35(t+1),find the numerical value of y(—Z). y(—Z) =

y(t) =tri(t/4)+35(t+1) = Stri((t +1)/ 4) =y(-2)= 3tri((-2 +1)/ 4) =3tri(-1/4)=9/4

A continuous-time system is described by 4y’(t) + 2y(t) = —x(t) , where x isthe excitation and y isthe
response. If x(t) = Xe!”" and y(t) =Ye!" and H(ja)) :% find the numerical value of H(jZ).

H(j2) =

w(t) =y (t) = (1-e)(t) +3e*u(t) = 3¢ u(t) = w(1) = 3e* = 0.1494

=0 att=0



Solution of ECE 315 Test 4 FO7

If y(t) = tri(t/3)*26(t+4),find the numerical value of y(—2). y(—Z) =

y(t) =tri(t/3)«25(t+4) = Ztri((t +4)/3) =y(-2)= 2tri((—2 +4)/3) =2tri(2/3)=2/3

A continuous-time system is described by 2y’(t) + 3y(t = —X(t) , where x isthe excitation and y isthe
response. If x(t) = Xe!”" and y(t) =Ye!" and H(ja)) :% find the numerical value of H(jZ).

H(j2) =

H(s) = 2;1_3 = H(jw) =— j20§+3 = H(jz) = —ﬁ =-0.120 + j0.160 = 0.2¢/2%#

If y(t) = x(t)* h(t) = (1— e‘“z)u(t) and W(t) = x(t)* h’(t) find the numerical value of W(l) .

w(t)=y(t) = (1-e?)s(t) + (17 2)e 2 u(t) = (17 2)e " u(t) = w(1) = (17 2)e ™ = 0.3033

=0 att=0



